

A Verma Module

February 2, 2019 2:43 PM

$$t = \epsilon a - \gamma b$$

At  $\hbar = 0$ ,  $\mathcal{U}_{0;\gamma\epsilon} = \langle t, y, a, x \rangle / ([t, \cdot] = 0, [a, x] = \gamma x, [a, y] = -\gamma y, [x, y] = 2\epsilon a - t$  with  $\Delta(t, y, a, x) = (t_1 + t_2, y_1 + y_2, a_1 + a_2, x_1 + x_2)$  and  $\theta(y, b, a, x) = (-x, -b, -a, -y)$ .

In  $\mathcal{U}/\mathcal{U}\langle y, a-\lambda \rangle =: V:$

$$V = \langle x^n \rangle$$

$x$  acts by  $\hat{x}$

$a$  acts by  $x + \gamma \hat{x} \partial_x$

$y$  acts by

$$(t - 2\epsilon x) \partial_x - \epsilon \gamma \hat{x} \partial_x^2$$

$$ax = x(a + \gamma)$$

$$ax^n = x^n(a + n\gamma) = (\lambda + n\gamma)x^n$$

$$yx = xy + t - 2\epsilon a$$

$$yx^n = x^n y + n t x^{n-1}$$

$$- 2\epsilon n x^{n-1} a$$

$$- 2\epsilon \frac{n(n-1)}{2} \gamma x^{n-1}$$

$$x^2 y z \rightarrow \left( \checkmark \right) \partial_x^2$$

$$ax = x(a + \gamma) \implies ax^n = x^n(a + n\gamma)$$

$\Downarrow$

$$xa = (a - \gamma)x \implies xa^n = (a - \gamma)^n x$$